t.z MATH STUDIO

Think Math, Think Ezy

Example:
There were 180 more bags in Shop A than Shop B at first. After %ot the

bags were transferred from Shop A to Shop B, there were 24 more bags
in Shop B than Shop A. How many bags were there in Shop B at first?

Note: Questionsthat require advanced model drawing techniques
with a given difference and then a change in the form of a fraction / portion of it.

Tips: Draw a model to represent the story.
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Solution:

2 unit > [(36 x 4) + 24] — 36 = 132
lunit>132+2=66

5 units > 66 x5=330 Ans: 330 bags



